



Letter Order (LO)



# **REQUEST FOR PROPOSAL**

			Solicitation No.: 325-069
	Provision of Labor and Materials for the Repair of Second	Floor Comfort F	Rooms and Renlacement of
Project Title:	Doors at BU College of Nursing	r ioor oomioit i	tooms and replacement of
		1	1
ABC:	Five Hundred Thousand and 00/100 Pesos (₱ 500,000.00)	Fund Source:	Fund - 05
Mode of	Negotiated Procurement under Small Value Procurement	Mode of	BY LOT
Procurement:	(Section 53.9)	Evaluation:	DI LUI
Implementing	BU College of Nursing	Delivery	120 Days Upon Receipt of

Document/s:	☑ DTI / SEC Registration	Updated /Latest TAX Clearance
	☑ Omnibus Sworn Stateme	nt Supported by Secretary Certificate <u>for CORPORATION</u> (if LCRB/SCRB
	and ABC is ₱ 50,000.00 A	Above);
	Cunsial Dames of Attamas	. for DADTNEDCHID if Authorizing his/hor Dorton or a Dorno contation

PROF. FATIMA B. CALINGACION, Assoc. Dean

**Mayor's Permit** 

Special Power of Attorney <u>for PARTNERSHIP</u> if Authorizing his/her Partner or a Representative (if LCRB/SCRB and ABC is ₱ 50,000.00 Above);

Period:

**PhilGEPS Registration Number** 

Special Power of Attorney <u>for SOLE PROPRIETORSHIP</u> if Authorizing a Representative (if LCRB/ SCRB and ABC is ₱ 50,000.00 Above)

## Sir/Madam:

Office/ End-user/s:

Required

Please quote your lowest price on the item/s listed below, subject to the Terms and Conditions provided in the last portion, stating the shortest time of delivery, and submit your quotation duly signed by your representative not later than <a href="Aug 11, 2025">Aug 11, 2025</a>
12:00 NN sealed in an envelope. Failure to submit with this form the above-listed eligibility requirements with the check() shall automatically disqualify the bids.

DENNIS A. LUNAS

BU Cluster 3 BAC Secretary





After having carefully read and accepted the Terms and Conditions, I/We submit our quotation/s for the item/s as follows:

ITEM	QTY UOM DESCRIPTION		DESCRIPTION	ABC (PHP)	Compliance to Specifications		REMARKS	U/PRICE
				, ,	YES	<u>NO</u>		[
	1		Labor and Materials for the Repair of Second Floor Comfort Rooms and Replacement of Doors	500,000.00				

#### SCOPE OF WORKS AND TECHNICAL SPECIFICATIONS

All works to be undertaken shall be in accordance with the plans and working drawings. It includes the furnishing of all materials, labor and equipment with supervision necessary for the complete construction of the said project.

The plans, detailed drawings and this scope of work shall be considered as complementing with each other, so that what is mentioned or shown on one, although not mentioned or shown in another, shall be considered as appearing in both. In case of conflict between the two, the same should be referred to the designing Architect/Engineer.

#### **ITEMS OF WORK INCLUDED:**

This program of work covers the replacement of ceiling, painting of doors and installation of aluminum doors at both Male and Female comfort room. Also included is the installation of aluminum partition on urinals and installation of Water Pump system and some plumbing fixtures.

## I. GENERAL REQUIREMENTS

1.00 lot

This item of work includes the fabrication and installation of Project Sign Boards, Temporary Utilities, Stock Room and Enclosure including the 2 months of electrical power consumption, and the provisions for the General Health and Safety Program.

II. SITE WORKS 1.00 lot

This item of work includes the following site works: a. Cleaning and clearing of site before and after construction 1.00 lot b. Dismantling and removal of existing ceiling at 2F Male and Female CR 17.00 sa.m. c. Dismantling of existing doors at 2nd Floor Male and Female CR 5.00 sets d. Dismantling of existing classroom doors 9.00 sets e. Removal of Drainage Pipes and Water Line on Lavatory 1.00 f. Dismantling and replacement of of electrical wires and electrical fixtures 1.00 lot g. Hauling of construction materials and waste material 1.00 lot

Also included is the equipment rental of hauling truck and other equipment needed to complete the said item of work. Confer with the Supply Officer as to the designated area where the waste materials are to be stockpiled. The contractor shall submit the waste material prior to demobilization.

# III. CEILING WORKS

17.00 sq.m

This item of work includes the furnishing and installation of 3.5mm thk. Ficem Board on 0.4mm x 1" x 2" x 16' Metal furring with ceiling joist spaced @ 600mm x 600mm on center bothways. Use 5/32"Ø x 1/2" Blind Rivets for anchorage of joints and 1.0" x 1.0" x 0.5mm x 0.5

Use welding rod, level hose, nylon and other miscellaneous hardware items necessary for the completion of work.







#### continuation...

ITEM QTY UOM		UOM	DESCRIPTION	ABC (PHP)	Compliance to Specifications		REMARKS	U/PRICE
					YES	NO	]	
			Labor and Materials for the Repair of Second Floor Comfort Rooms and Replacement of Doors					

#### SCOPE OF WORKS AND TECHNICAL SPECIFICATIONS

Also included is the equipment rental of one Drill Tool & Drill Bits, and Cutting tools & blade needed to finish the said item of work.

It is necessary to use cutting tools & blade for cutting rods and wall angles.

All materials shall be approved high quality.

Please refer to the Ceiling Plan for complete details.

#### IV. PAINTING WORKS

29.00 sq.m.

This item of work includes the painting of the following:

A. Door at 2F Male and Female CR

12.00 sq.m.

Use Flat Enamel Paint (1 coat), Interior Semi-Gloss Enamel (2 coats), Exterior Gloss Enamel (2 coats), Glazing Putty, and Tinting Color to wood surfaces.

B. Ceiling

17.00 sq.m.

Use Flat Latex undercoat (1 coat), Patching Compound, and Flat Latex topcoat (2 coats) to ficem board surfaces.

This item of work includes the use of sandpaper, paint rollers, brushes, tray, rags, newspapers and other miscellaneous item to finish the painting works.

The painting contractor shall supply all labor, tool and equipment necessary and shall perform all painting and finishing works as shown in the schedule of painting and other surfaces to render ready to use.

Painting materials shall be stored in one place in the building to be kept neat and clean.

Before any painting is done all surfaces shall be cleaned, smoothed and free from dust. Dirt, grease, mortar, rust and other foreign substances and all parts where paint remover has been used shall be washed off with paint or laquer thinner.

All paints shall be spread evenly and carefully.

No painting shall be done on outside work extremely cold, frosty, foggy or damp weather.

All materials shall be approved high quality.

# V. DOORS AND PARTITION

19.00 sets

This item of work includes fabrication and installation of the following:

For Replacement of broken and damaged doors

0.70m x 1.60m Aluminum (Powder Coated) Swing Door Type

w/ Heavy-Duty Lockset Complete with accessories

5.00 sets

DO2 0.90m x 2.10m Steel Type Door with viewing window and fixed glass transom w/
Heavy-Duty Lockset Complete with accessories (painting is included) 9.00 sets

Stainless Steel Door Knob (for entrance Door at Male & Female CR) 2.00 sets

PARTITION

For installation of new partition on Urinals

P01 0.40m x 1.00m Aluminum Partition w/ complete accessories 3.00 sets

All materials shall be approved high quality. Please refer to the Plan for complete details.







#### continuation...

ITEM	QTY UOM DESCRIPTION		ABC (PHP)	Compliance to Specifications		REMARKS	U/PRICE	
				YES	NO			
			Labor and Materials for the Repair of Second Floor Comfort Rooms and Replacement of Doors					

#### SCOPE OF WORKS AND TECHNICAL SPECIFICATIONS

VI. PLUMBING WORKS 1.00 lot

This item of work includes the furnishing and installation of the following plumbing fixtures and materials:

A. Plumbing	Fixtures	and	Fittings
-------------	----------	-----	----------

Water Closet Set (w/complete acessories)	1.00	set
Lavatory Drain Pipe Set w/ P-Trap (stainless steel or heavy duty)	5.00	sets
Lavatory Water Pipe Set (Flexible hose, angle bar, etc.)	5.00	sets
Vanity Mirror	5.00	sets
Miscellaneous Items (teflon tape, pipe, fittings, etc)	1.00	lot

#### B. Water Pressure System

Materials for Pump House (W-1.4m, L-1.7m, H-1.5m) and tapping of water line to

source:		
Portland Cement	10.00	bags
Gravel	0.50	cu.m.
Washed Sand	1.00	cu.m.
Ordinary CHB 4" Thk	98.00	pcs
10mm dia x 6m RSB	25.00	pcs
12mm dia x 6m RSB (Fabricated door)	5.00	pcs
GI Tie Wire	1.00	kg
Heavy duty padlock w/ key	1.00	unit
1 HP Booster Pump	1.00	unit
42 gal Pressure Tank (Stainless 304)	1.00	unit
600 Liter Stainless Steel Cylindrical Water Storage Tank	1.00	unit
Magnetic switch	1.00	unit
Electric Floating Switch	1.00	unit
Pressure Gauge	1.00	unit
1" Ø PN-25 PPR gate valve	2.00	sets
1" Ø PN-25 PPR union	3.00	pcs
1" Ø x 90 deg PN-25 PPR elbow	4.00	pcs
1" Ø PN-25 PPR male adaptor	3.00	pcs
1" Ø x 1" Ø PN-25 PPR tee	4.00	pcs
1" Ø x 1" Ø Gl Tee	2.00	pcs
1/4" Ø x 3" Ø GI Nipple	5.00	pcs
1/4" Ø x 1/4" Ø GI Tee	2.00	pcs
1 1/4" x 1" Ø bushing reducer	2.00	pcs
1"Ø x 3/4" Ø bushing reducer	2.00	pcs
3/4"Ø x 1/4" Ø bushing reducer	2.00	pcs
1 1/4" x 1" Ø PN-25 PPR coupling reducer	5.00	pcs
1" Ø PN-25 PPR coupling	5.00	pcs
1" Ø PN-25 PPR Swing valve	1.00	set

## VIII. ELECTRICAL WORKS

1.00 lot

This item of works includes rewiring of existing CR lighting fixtures and switches. For power supply use 2-3.5 sq. mm THHN wire in 20 mm dia., flexible hose and mica tube.

This also includes installation of power supply for one (1) unit Booster pump. Power supply will be tapped at existing Panelboard spare.







#### continuation...

ITEM	QTY	UOM	DESCRIPTION	ABC (PHP)	Compliance to Specifications		REMARKS	U/PRICE
					YES	NO	1	
			Labor and Materials for the Repair of Second Floor Comfort Rooms and Replacement of Doors					

## SCOPE OF WORKS AND TECHNICAL SPECIFICATIONS

Use 2-5.5 sq. mm THHN wire + 1-5.5 sq. mm THHN wire (green) in PVC 20 mm dia conduit.

Also includes miscellaneous items to complete the installation

See electrical plan for directives.

See below stated bill of materials

Replacement	of	CR	lighting	fixtures
-------------	----	----	----------	----------

Round downlight with built in 12W daylight 6.00	sets
ultra thin, flush mounted	
One gang switch 2.00	sets
Electrical tape 1.00	Rolls
Junction box with cover 6.00	pcs
Mica tube 1/4" 6.00	meters
3.5mm <sup>2</sup> THHN wire (red and white) 50.00	meters
Flexible conduit 20 mm dia 20.00	meters
Other miscellaneous and consumables 1.00	lot
Booster Pump power supply	
5.5mm² THHN wire (red and white) 100.00	meters
5.5mm <sup>2</sup> THHN wire (green) 50.00	meters
30AT Enclosed circuit breaker, 2P, 230V in nema 3r enclosure 1.00	set
30AT circuit breaker only, 2P, 230V (same specs as existing to	
be tapped at spare	
PVC conduit 20 mm dia conduit 18.00	pcs
PVC 20 mm dia c-clamp 54.00	pcs

# VIII. FORMWORKS AND SCAFFOLDINGS

1.00 lot

This item of work includes the furnishing and installation of 2 pcs of 1/2" thk Ordinary Plywood , 5 pcs of 2"x 3" x 12' Coco Lumber, and 5 pcs of 2"x 2" x 12' Coco Lumber, G.I. Tie Wire # 16 and assorted CW nails for scaffolding and bracing to complete the said item of work.

#### **BILL OF MATERIALS AND COST ESTIMATES**

ì.	GENERAL REQUIREMENTS	1.00	lot		
	PART A Project Sign Boards Temporary Utilities, Stock Room and Enclosure	1.00 1.00		@ 3,000.00 / lot @ 10,000.00 / lot (A) Direct Cost (B) Indirect Cost Vat (5% of A & B) SUB COST I-A	3,000.00 P 10,000.00 P 13,000.00 3,250.00 812.50 P 17,062.50
	PART B  General Health and Safety Program  Water and Electrical Power Consumption	1.00 2.00		@ 2,000.00 / lot @ 1,000.00 / mos. (A) Direct Cost Vat (5% of A & B) SUB COST I-B ITEM COST I	2,000.00 2,000.00 P 4,000.00 200.00 P 4,200.00 P 21,262.50







## continuation...

ITEM	EM QTY UOM DESCRIPTION		ABC (PHP)	Compliance to Specifications		REMARKS	U/PRICE	
					YES	<u>NO</u>		
			Labor and Materials for the Repair of Second Floor Comfort Rooms and Replacement of Doors					

	BILL OF MATERIALS AND COST	T ESTIMATES					
II.	SITE WORKS	1.00	lot				
	a. Cleaning and clearing of site before and after construction	1.00	lot	@	3,000.00 / lot		3,000.00
	b. Dismantling and removal of existing ceiling at 2F Male and Female CR	17.00	sq.m.	@	150.00 / sq.m.		2,550.00
	c. Dismantling of existing doors at 2nd Floor Male and Female CR	5.00	sets	@	350.00 / set		1,750.00
	<ul> <li>d. Dismantling of existing classroom doors</li> <li>e. Removal of Drainage Pipes and Water Line on Lavatory</li> </ul>	9.00	sets	@	350.00 / set		3,150.00
	f. Dismantling and replacement of of electrical wires and electrical fixtures	1.00	lot	@	1,500.00 / lot		1,500.00
	g. Hauling of construction materials and waste material	1.00 1.00	lot	@ @	2,500.00 / lot 2,500.00 / lot		2,500.00
				•	2,500.00 / 101		2,500.00
	Equipment Rental: Hauling truck	1.00	4	_	22222		
		1.00	day	@	8,136.00 / day (A) Direct Cost	Р	8,136.00
					(B) indirect Cost	Р	25,086.00 6,271.50
					Vat (5% of A & B)	_	1,567.88
					ITEM COST II	P	32,925.38
m.	CEILING WORKS	17.00	sq.m				
	Materials 2 Smm thk Signm Board						
	3.5mm thk. Ficem Board  Metal furring, 0.4mm x 1" x 2" x 16'	7.00	pcs	@	430.00 / pc		3,010.00
	Wall Angle, 1.0" x 1.0" x 0.5mm x 3m	13.00	pcs	@	190.00 / pc		2,470.00
	5/32"Ø x 1/2" Blind Rivets	10.00 350.00	pcs	@	90.00 / pc 3.00 / pc		900.00
	10mm dla. X 2" expansion bolt w/ shield	33.00	pcs	@	3.00 / pc 42.00 / pc		1,050.00 1,386.00
	Metal furring, 0.4mm x 1" x 2" x 16' (hangers)	14.00	pcs	@	190.00 / pc		2,660.00
	3" Wooden Cornice x 2.4m	11.00	pcs	@	300.00 / pc		3,300.00
	Welding Rod  Level hose, nylon, Mesh Tape, Miscellaneous Hardware items	0.50	kg	@	150.00 / kg		75.00
	teres in the state of the state	1.00	lot	@	800.00 / lot Material Cost		800.00
					Labor Cost	Р	15,651.00 5,477.85
	Equipment Rental						3,477.63
	Drill Tool & Drill Bits Cutting Tool & Blade	2.00	days	@	650.00 / days		1,300.00
		2.00	days	@	800.00 / days		1,600.00
					Equipment Rental Cost (A) Direct Cost	p -	2,900.00 <b>24,028.85</b>
					(B) Indirect Cost		6,007.21
					Vat (5% of A & B)	_	1,501.80
					ITEM COST IV	Р	31,537.87
IV.	PAINTING WORKS	29.00					
	Materials	29.00	sq.m.				
	A. Door at 2F Male and Female CR	12.00	sq.m.				
	Flat Enamel Paint (1 coat) Interior Semi-Gloss Enamel (2 coats)		liter	@	200.00 / liter		200.00
	Exterior Gloss Enamel (2 coats)		liter liter	@	220.00 / liter		220.00
	Glazing Putty		liter	@	220.00 / liter 180.00 / liter		220.00 180.00
	Tinting Color	1.00	can	@	135.00 / can		135.00
	sandpaper, paint rollers, brushes, tray, rags & newspapers	1.00	lot	@	300.00 / lot		300.00
	B. Ceiling	17.00	sq.m				
	Flat Latex undercoat (1 coat)		liter	@	200.00 / gal		200.00
	Patching Compound		kg	@	80.00 / kg		80.00
	Flat Latex topcoat (2 coats)		liter	@	200.00 / gal		400.00
	meshtape, sandpaper, paint rollers, brushes, tray, rags & newspapers	1.00	lot	@	500.00 / lot		500.00
	Labor				Material Cost	P -	2,435.00
		1.00	lot	@	852.25 / lot		852.25
					Labor Cost		852.25
					(A) Direct Cost (B) Indirect Cost	P	3,287.25
					Vat (5% of A & B)		821.81 205.45
						200	203.43







## continuation...

ITEM	QTY	UOM	DESCRIPTION	ABC (PHP)	Compliance to Specifications		REMARKS	U/PRICE
					YES	NO		
			Labor and Materials for the Repair of Second Floor Comfort Rooms and Replacement of Doors					

## BILL OF MATERIALS AND COST ESTIMATES

		SILL OF MATERIALS AND COST	C) ( INIM I C)					
						ITEM COST VII	P	4,314.52
v.	DOORS	AND PARTITION	19.00	sets				
		Replacement of broken and damaged doors						
		0.70m x 1.60m Aluminum (Powder Coated) Swing Door Type w/ Heavy-Duty Lockset Complete with accessories 0.90m x 2.10m Steel Type Door with viewing window and fixed glass	5.00	sets	@	7,280.00 / set	p	36,400.00
		transom w/ Heavy-Duty Lockset Complete with accessories (painting is included)	9.00	sets	@	12,285.00 / set	Р	110,565.00
		Stainless Steel Door Knob (for entrance Door at Male & Female CR)	2.00	sets	@	600.00 / set		1,200.00
	PARTITIO	ON						
		r installation of new partition on Urinals						
		P01 0.40m x 1.00m Aluminum Partition w/ complete accessories	3.00	sets	@	2,600.00 / set	P	7,800.00
	2 2					Material Cost	P	155,965.00
	Labor		1.00	lot	@	23,394.75 / lot	-	23,394.75
						Labor Cost	P	23,394.75
						(A) Direct Cost	Р	179,359.75
						(B) Indirect Cost		44,839.94
						Vat (5% of A & B)	_	11,209.98
						ITEM COST V	p ~	235,409.68
VI.	/i. PLUMBING WORKS Materials		1.00	lot				
	A.	Plumbing Fixtures and Fittings	1.00	lot				
		Water Closet Set (w/complete acessories)	1.00	set	@	7,500.00 / set	P	7,500.00
		Lavatory Drain Pipe Set w/ P-Trap (stainless steel or heavy duty)	5.00	sets	@	650.00 / set		3,250.00
		Lavatory Water Pipe Set (Flexible hose, angle bar, etc.) Vanity Mirror	5.00 5.00	sets sets	@	500.00 / set		2,500.00
		Miscellaneous Items (teflon tape, pipe, fittings, etc)	1.00	lot	@ @	550.00 / set 500.00 / lot		2,750.00 500.00
					_			
	8.	Water Pressure System Materials for Pump House (W-1.4m, L-1.7m, H-1.5m) and tapping of water line to	1.00	lot				
		source: Portland Cement			_			
		Gravel	10.00 0.50	bags	@	270.00 / bag		2,700.00
		Washed Sand	1.00	cu.m.	@	1,100.00 / cu.m. 550.00 / cu.m.		550.00 550.00
		Ordinary CHB 4" Thk	98.00	pcs	@	12.00 / pc		1,176.00
		10mm dia x 6m RSB	25.00	pcs	@	165.00 / pc		4,125.00
		12mm dia x 6m RSB (Fabricated door)	5.00	pcs	@	180.00 / pc		900.00
		GI Tie Wire	1.00	kg	@	90.00 / pc		90.00
		Heavy duty padiock w/ key	1.00	unit	@	600.00 / unit		600.00
		1 HP Booster Pump	1.00	unit	@	11,000.00 / unit		11,000.00
		42 gal Pressure Tank (Stainless 304)	1.00	unit	@	7,500.00 / unit		7,500.00
		600 Liter Stainless Steel Cylindrical Water Storage Tank	1.00	unit	@	20,505.00 / unit		20,505.00
		Magnetic switch	1.00	unit	@	850.00 / unit		850.00
		Electric Floating Switch	1.00	unit	@	1,500.00 / unit		1,500.00
		Pressure Gauge	1.00	unit	@	350.00 / unit		350.00
		1" Ø PN-25 PPR gate valve 1" Ø PN-25 PPR union	2.00	sets	@	800.00 / set		1,600.00
		1" Ø x 90 deg PN-25 PPR elbow	3.00	pcs	@	530.00 / pc		1,590.00
		1" Ø PN-25 PPR male adaptor	4.00 3.00	pcs	@	38.00 / pc 450.00 / pc		152.00
		1" Ø x 1" Ø PN-25 PPR tee	4.00	pcs	@	450.00 / pc 55.00 / pc		1,350.00 220.00
		1" Ø x 1" Ø Gl Tee	2.00	pcs	@	40.00 / pc		80.00
		1/4" Ø x 3" Ø Gi Nipple	5.00	pcs	@	28.00 / pc		140.00
		1/4" Ø x 1/4" Ø GI Tee	2.00	pcs	@	40.00 / pc		80.00
		1 1/4" x 1" Ø bushing reducer	2.00	pcs	@	60.00 / pc		120.00
		1"Ø x 3/4" Ø bushing reducer	2.00	pcs	@	35.00 / pc		70.00
		3/4"Ø x 1/4" Ø bushing reducer	2.00	pcs	@	30.00 / pc		60.00
		1 1/4" x 1" Ø PN-25 PPR coupling reducer	5.00	pcs	@	65.00 / pc		325.00
		1" Ø PN-25 PPR coupling	5.00	pcs	@	28.00 / pc		140.00









continuation...

ITEM	QTY	UOM	DESCRIPTION	ABC (PHP)	Compliance to Specifications		REMARKS	U/PRICE
					YES	NO		
			Labor and Materials for the Repair of Second Floor Comfort Rooms and Replacement of Doors					

	<u>l</u> _		Doors							
	·	•	BILL OF MATE	RIALS AND COST EST	'IMATES	<del>.</del>	•	•	•	
		1" Ø PN-	25 PPR Swing valve		1.00	set	@	722.00 / set		722.00
		at section.	PROCESSION OF THE PROCESSION O		1.00	300	e-	Material Cost:	Р	75,545.00
1	Labor				1.00	lot	@	26,440.05 / lot		26,440.05
					2.00	.5.	-	Labor Cost:	Ρ	26,440.05
								(A) Direct Cost	P	101,985.05
								(B) Indirect Cost	ř.	25,496.26
								Vat (5% of A & B)		6,374.07
								ITEM COST VI	Р —	133,855.39
VII. E	LECTRICA	LWORKS			1.00	lot				
· · · · · ·					1.00	iot				
			CR lighting fixtures twith built in 12W daylight		6.00		_	700.00 /	_	
		itra thin, flush r			6.00	sets	@	700.00 / set	P	4,200.00
	0	ne gang switch			2.00	sets	@	200.00 / set		400.00
	E	lectrical tape			1.00	Rolls	@	50.00 / roll		50.00
		unction box wit	h cover		6.00	pcs	@	50.00 / pc		300.00
		/lica tube 1/4"			6.00	meters	@	30.00 / m		180.00
			ire (red and white)		50.00	meters	@	37.00 / m		1,850.00
		lexible conduit			20.00	meters	@	15.00 / m		300.00
	О	ther miscellane	eous and consumables		1.00	lot	@	500.00 / lot		500.00
		looster Pump p								
	5	.5mm² THHN w	ire (red and white)		100.00	meters	@	60.00 / m		6,000.00
	5	.5mm² THHN w	ire (green)		50.00	meters	@	60.00 / m		3,000.00
			ircuit breaker, 2P, 230V in nema 3r enclosure		1.00	set	@	1,500.00 / set		1,500.00
		OAT circuit brea e tapped at spa	ker only, 2P, 230V (same specs as existing to							
		Contraction of the Contraction o	nm dia conduit		18.00	pcs	@	90.00 / pc		1,620.00
		VC 20 mm dia c			54.00		@	3.00 / pc		162.00
			•				•	Material Cost:	P	20,062.00
	Labor				1.00	lot	@	7,021.70 / lot		7,021.70
							_	Labor Cost:	P	7,021.70
								(A) Direct Cost	Р	27,083.70
								(B) Indirect Cost		6,770.93
								Vat (5% of A & B)		1,692.73
								ITEM COST VII	Р	35,547.36
VIII. S	SCAFFOLD	INGS			1.00	lot ~				
ı	Materials	1 /211 Alaka Owaki	- Diamed			1 1000000				
		1/2" thk Ordina			2.00			720.00 / pc		1,440.00
		2"x 3" x 12' Cocc 2"x 2" x 12' Cocc			5.00			156.00 / pc		780.00
		G.I. Tie Wire # 1			5.00			104.00 / pc		520.00
		Assorted CW Na			0.50	100		90.00 / kg		45.00
	,	TOTAL CENT LAND IAS			1.00	kg 🏎		120.00 / kg Material Cost	p	120.00 2,905.00
		Labor			1 00	olot	@	1,016.75 / lot	-	1,016.75
					1.00		9	Labor Cost		1,016.75
								(A) Direct Cost	Р	3,921.75
								(B) Indirect Cost		980.44
								Vat (5% of A & B)		245.11
								ITEM COST VIII	Р	5,147.30
	OFNED			GRAND SUMMARY	•					
l.	GENERAL	REQUIREMENT	15						P	21,262.50

	GRAND SUMMARY			
L.	GENERAL REQUIREMENTS		P	21,262.50
11.	SITE WORKS			32,925.38 -
111.	CEILING WORKS			31,537.87
IV.	PAINTING WORKS			4,314.52
V.	DOORS AND PARTITION			235,409.68 -
VI.	PLUMBING WORKS			133,855.39 -
VII.	ELECTRICAL WORKS			35,547.36 -
VIII.	SCAFFOLDINGS			5,147.30
		<b>Approved Budget for Contract</b>	Ρ -	500,000.00







## continuation...

ITEM	QTY	UOM	DESCRIPTION	ABC (PHP)	Compliance to Specifications		REMARKS	U/PRICE
					YES	NO		
			Labor and Materials for the Repair of Second Floor Comfort Rooms and Replacement of Doors					

# BILL OF MATERIALS AND COST ESTIMATES

#### **GRAND SUMMARY**

	GENERAL REQUIREMENTS
11.	SITE WORKS
111.	CEILING WORKS
IV.	PAINTING WORKS
V.	DOORS AND PARTITION
VI.	PLUMBING WORKS
VII.	ELECTRICAL WORKS
/111.	SCAFFOLDINGS

VII.

VIII.

21,262.50 -32,925.38 -31,537.87 -4,314.52 235,409.68 -133,855.39 -35,547.36 -5,147.30

Approved Budget for Contract P

Nothing follows									
Delivery Compliance:	○ YES	○ NO	TOTAL BID PRICE:						
Payment Term:			Price Validity:						

Printed Name / Signature
Tax Identification Number (TIN) / Tax Type
Contact Number
Email Address







# **TERMS & CONDITIONS**

- 1 All entries must be typewritten or in BLOCK LETTERS:
- 2 Bidders shall provide the correct and accurate information required in this form.
- 3 The following shall be observed in accomplishing the Quotation/Proposal forms:

					(	9		
ITEM	QTY	UOM	DESCRIPTION	ABC (PHP)	Compliance to Specifications		REMARKS	U/PRICE
					YES	<u>NO</u>		
1							2	3
Delivery Compliance:			TOTAL BID PRICE: 4					
Payment Term:				Price Validity:				

- 1. Check or put COMPLIED / NOT COMPLIED in the "YES" or "NO" if compliant with the specifications or not;
- 2. State the brand/model offered and/or alternate offer if checked "NO" or NOT COMPLIED in the compliance;
- 3. State the Unit Price in accordance with the UOM;
- 4. State the TOTAL Bid Price for all items with the bid.
- **4** Detailed literature or brochure of the offer, as may be applicable, shall be submitted to support the statement of compliance with the technical specifications;
- **5** Price quotation/s must be valid for a period of <u>45 CALENDAR DAYS</u> from the submission date.
- **6** Price quotation/s, to be denominated in Philippine peso shall include all taxes, duties, and/or levies payable, and quotations exceeding the Approved Budget for the Contract shall be rejected.
- 7 Cash on Delivery (C.O.D.) as payment term is not allowed per agency Accounting Policy.
- **8** Bids with no Payment Term and/or Delivery Term indicated shall be understood to be in adherence with the standard Government Terms and/or conditions stipulated in these forms;
- **9** Award of the contract shall be made to the lowest quotation that complies with the minimum technical specifications and other terms and conditions stated herein;
- 10 Proposal/Quotation forms issued by the designated canvasser or those acquired electronically, either downloaded from the BU website or the PhilGEPS or requested through e-mail, shall bear the original signature over the printed name of the authorized
- 11 Submission of proposal/quotation forms through e-mail shall be allowed, specifically for suppliers outside the Province of Albay, provided that the original signed forms shall be transmitted to the CS-BAC Secretariat through courier; non-receipt of which shall
- **12** Any interlineations, erasures, or overwriting shall be valid only if they are signed or initialed by you or any of your duly authorized representative/s;
- **13** The document requirements which shall be submitted with the proposals/quotations shall be per Annex "H", Appendix A (*Documentary Requirement for Alternative Methods of Procurement*) of the 2016 IRR of R.A. 9184; the notarized Omnibus Sworn Statement shall be submitted by winning bidder (for ABC's above ₱ 50,000.00);
- **14** Proposals and documents shall be submitted to the following address:

The BU Cluster 3 BAC Chairperson BU Cluster 3 BAC Secretariat Office, BU College of Science Bldg. 4, BU Main Campus, Legazpi City

Contact No.: 0985 801 6645

Email: bu-cluster3bac@bicol-u.edu.ph

- **15** The Bicol University-BAC shall have the right to inspect and/or test the goods to confirm their conformity to the technical requirements.
- **16** Implementation of the project shall follow the provisions of the Revised Rules and Regulations of R.A. 9184.